[image: image12.png]You have been askedto st up a 10-character password for SL Products Ltd's accounting system.

(@) Which of the following would be the most secure?

13june1945

TworFour=g.

mypassword

1234567890





CBT Sample assessment model answers

Professional Diploma Synoptic (PDSY)

Sample assessment 1

Task 1  (15 marks)
[image: image2.png](a) Who has the statutory duty to prepare accounts for SL Products Ltd?

‘The companys auditors

“The directors ofthe company

‘Sue Hughes, the Chief Accountant

Companies House

AtSL Products Ltg, the duties of sales invoicing, sales ledger and credit control are separated from each
other. Ray Massey, Credit Controller, discovers that a sales invoice has been duplicated. The invoice and

the duplicate invoice have been posted to the sales ledger.

(b) Whatis the correct action for Ray Massey to take?

Prepare a credit note and sendtto the customer

Advise the sales ledger clerk to reverse the duplicate entry

Advise the invoicing team of the error

Al ofthe above
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[image: image10.png]() Liz Hall, Accounts Payable Clerk, has asked you to show whether the following errors would be.
detected by reconciling the accounts payable ledger to the accounts payable control account.



[image: image11.png]Ina large organisation, three separate teams are responsible for sales invoicing, sales ledger and credit
‘control. A credit control cerk discovers that a sales invoice has been duplicated. The invoice andhe.
duplicate have been posted to the sales ledger.

(b) Whatis the correct action for the credit control clerk to take?

Prepare a credit note and sendtto the customer

Advise the sales ledger clerk to reverse the duplicate entry

Advise the invoicing team of the error

Al ofthe above

() Show whether or not each of the following errors would be detected by reconciling the accounts.
‘payable ledger to the accounts payable control account.

Apurchase invoice posted to the wrong supplier account [Would not be detected [g

Apricing error in a purchase invoice. [Would not be detected [g

Apurchase invoice debited o the suppliers account [Would ve detectea g

Batch of sales invoices posted to accounts payable control account | [Would be detecied g

VAT in a purchase invoice posted to stationery instead of VAT control | [Would not be detected g




Task 1, continued 

Task 1, continued
[image: image3.png]Access to SL Products Ltd's accounting system is controlled by 10-character passwords.

(@) Which of the following would be the most secure?

13june1945

TworFour=g.

mypassword

1234567890

Your duties at SL Products Ltd include the preparation of a monthly commentary on the resuls of its
subsidiary, Menille Ltd. The Chief Accountant of Menvle Ltd has written you an emilto thank you for your
support Included i the email is the following paragraph:

"AS you know, Menville Ltd has a VIP box at Bellchester Wanderers' footoall club. | know you are a fan of
this team, so please accepta pass for the upcoming season which you can use to attend all games and
join us for a meal and a drink ™



[image: image4.png]Access to the accounting system is controlled by 10-character passwords.

(d) Which of the following would be most secure?

13june1945

TworFour=g.

mypassword

1234567890

Your duties at SL Products Ltd include the preparation of a monthly commentary on the results of its
‘subsidiary, Menille Ltd. The Chief Accountant of Menville Ltd has wiitten you an emailto thank you for your
‘support. Included in the email i the following paragraph:

“As you know, Menville Lid has a VIP box at Bellchester Wanderers’ football club. | know you are a fan of

this team, S0 please accept a pass for the upcoming season which you can use to attend all games and
join s for a meal and a drink”

(e) Answer the following questions.

Which of your fundamental principles s threatened by this offer?
[obectuity v

What action should you take?

[Vou mustdeciine v





Task 2  (15 marks)
(a) Examine the planning assumptions and calculations in the proposed budget and identify any weaknesses.

The draft budget is based on the assumption of 10% growth in sales volume. No justification is offered for this round figure assumption. I suggest that we need to review recent trends in Merville Ltd's products; look at the potential for the anticipated new products and estimate the likely additional business generated from our own customers. With only 50 current products, this should not be difficult.

The assumption that sales revenue will only grow relative to sales volume is probably pessimistic. Although we are told prices can never be raised, new products should command a healthy margin when launched, particularly as they are patent protected.

All costs have been increased by 12.5% in the draft budget (2.5% for inflation and 10% for growth). There is no reason why fixed costs should increase by more than an appropriate rate for inflation. Each line of costs needs to be considered carefully according to its cost type (variable, fixed, etc) and its own cost pressures.

In particular, agreement is required about the management bonus. This has been accrued at £21,000 for 20X2 and, in effect, budgeted at £23,625 for 20X3. This has not yet been approved.

(b) Explain how costs and profitability should be managed in an organisation that manufactures multiple products.
In a multi-product manufacturing organization it is essential that costs and profitability are reviewed by product. Therefore, a costing system needs to be in place.

A standard costing system has particular advantages in that it is based on calculations of what the costs should be - called standard costs. This is useful for control as variances from these standards can be reported and investigated.

The standard cost of each product can be compared with its selling price to identify profitability.

Standard costs can be calculated for planned new products to inform price setting.

(c) Give your opinion, with reasons, on how well the budget would motivate managers to create sustainable, profitable growth.
Budgetary control can be a powerful tool to encourage managers and staff to create sustainable, profitable growth. To do this, budgets need to be stretching but achievable.

The proposed Merville Ltd budget has been prepared by its own directors who have a vested interest, in the form of the management bonus, in ensuring that it is easy to achieve. They have not provided sufficient supporting data to enable us to verify that the sales volume and pricing assumptions are stretching.

Increasing all costs, fixed and variable, by 12.5% cannot be justified and creates significant budgetary slack.

I do not believe that this draft budget would motivate Merville Ltd to create sustainable, profitable growth.

Task 3  (15 marks)
Note: There are more suggested answers shown below than are required to be given in the task.
	No.
	Weakness
	Potential problem

	1
	The Purchasing Manager appears to have very little involvement in day to day purchasing, apart from negotiating terms with new suppliers.
	Failures in the system and system abuses could go unnoticed.

	2
	No apparent security for order stationery.
	Potential for anyone to commit fraud by making purchases for their own use in the company's name.

	3
	Budget holders and the warehouse manager can raise orders and sign that the goods or services have been received.
	There is a potential for fraud as there does not appear to be any check that these purchases are necessary, or even, for business use.

	4
	The procedures do not include any mention of checking that goods and services of the correct standard have been received.
	If this is not happening the company could be paying for unsatisfactory supplies.

	5
	There is no cash limit to purchase orders provided that they are within the approved budget.
	Without a second signature on large purchases, there is scope for errors, poor judgement or fraud to be very costly.

	6
	Orders can be placed without agreeing a price.
	The company is in a weak position to negotiate price after the goods or service have been received.

	7
	Lack of authorisation of new accounts. 
	There should be a policy for choosing new suppliers. Potential for fraud through collusion with suppliers.

	8
	The terms agreed by Tony Clark are not countersigned.
	Potential for fraud through collusion with suppliers.

	9
	Only one signature is required on purchase orders.
	Potential for fraud through collusion with suppliers.

	10
	Liz Hall checks, clears and arranges payment of invoices.
	Potential for fraud through collusion with suppliers.

	11
	Tony Clark and Liz Hall control all aspects of purchase accounting.
	Potential for fraud through collusion.


Task 4  (20 marks)
[image: image5.png]Cynthia asks you to calculate which prices would be most profitable.

{a) For each product calculate the marginal cost per unit and the annual contribution that would be
‘eamed at each of the three prices that Cynthia has considered.

NP1 NP2 NP3

Calculation of contribution

Warginal cost per unit 2070 | 4830 | 7245
(to the nearest penny)

To undercut the competiion 75 2220 3180
Warket price 1095 4880 2758
Spreadshest price 720 5040 2016

(b) Select the price that would give the highest contribution to profitfor each of the three products.

@ v
P2 |[ounasreatne compemnon [l





[image: image6.png](c) Would Louise Harding’s proposed policy ensure that all new products are profitable?
(You can assume that the costs are correctly calculated.) (1 mark

[es





Task 4, continued
(d) Explain your answer to (c).
In theory, any price that is higher than marginal cost will make a contribution and therefore increase profits. The policy generates prices which are greater than total unit cost, including an apportionment of fixed costs. Therefore they should be profitable at any volume of sale.

(e) Explain how Louise Harding’s proposed policy could be damaging to the business.
The pricing policy does not allow the sales director to respond to market conditions and find the combination of profit and volume that will optimise contribution. 

SLP is in a price competitive business. If new products are not priced competitively they will only sell in small volumes. As ageing products decline they must be replaced by innovative new ones. 

The business will go into decline if the product range is not refreshed.

Task 5  (20 marks)
[image: image7.png](a) Complete the scorecard by calculating the missing ratios.

Profitability & gearing (correct to 1 dp):
Gross proft %

Operating profit %

Retun on capital employed

Gearing

Liquidity ratios (correct to 1dp):
Current ratio

Acid test/ Quick ratio

Working capital days (correct to nearest day):
Inventory holding period

Trade receivables collection period

Trade payables payment period

Working capital cycle

204%

53%
175%
165%

1801

0811

92 days|
54 days|
86 days|

60 days|

94 days|
53 days|
90 days|

57] days|





Task 5, continued
[image: image8.png](b) Select the ONE correct observation about each aspect of business performance below.

Proftabiity

This has been a year of steady, if unspectacular, progress. Although proftabilty has
dipped, the return on capital employed has been kept under control

The profitabiliy raios give cause for concem. The small increase in sales revenue has not
improved the gross profit percentage. Operating expenses have increased, reducing
operating profit and returm on capital employed.

Some profitbility ratios have improved and some have deteriorated. Further investigation
is required to understand whether profitabilty is improving.

Gearing

The increased gearing ratio s entirely due to the increase in non-current iabiltes.

itis likely that the interest cover ratio has increased.

The increased gearing ratio shows that the company has become more risky.





Task 5, continued 

[image: image9.png]Liquidity

Both ratios have deteriorated which indicates that the company is less solvent.

Both ratios remain too high, indicating that working capital is not being used effectively.

The ratios are contradictory. Further investigation is required

Working capital

The working capital cycle has worsened. The inventory holding period has improved but the
other rafios indicate a lack of financial control.

There is a welcome improvement in the working capital cycle, mainly due to the change in
ihe payment period for payables

The working capital cycle is worse than a year ago because of the increased cost of sales.

Overall performance.

Profitabilit has deciined in 20X2, mainly due to compeitive pressures.
However, the gearing and liquidity measures show an improving financial position

2042 has been a bad year. Proftability has declined and finances are coming under
pressure.

Steady progress has been made in 20X2. The ratios show that the company is being better
managed.






Task 6  (15 marks)
(a) Identify one strength in these procedures. Explain how the business benefits from this. 

Effective credit control is in place. New applicants for accounts are credit checked and there is routine credit control. This minimises bad debt and assists cash flow.

(b) Identify one weakness in these procedures. Explain how this damages the business and suggest a remedy.
It is not easy for new customers to place orders, particularly from overseas. The requirement to apply for credit terms or to send a cheque through the post is an obstacle to trade and is probably sending potential customers elsewhere. Only 5% of sales are made against cleared cheques.

The account opening procedure needs to be performed electronically. Customers should be able to apply on line for a small initial credit limit which can be immediately checked with a credit reference agency. Alternatively, a facility to pay on-line by credit or debit card when placing an order would be attractive to small businesses and those with a poor credit record.

(c) Identify an opportunity to improve the procedures. Explain how the procedure should be changed and how the business could benefit. 
There appears to be an opportunity to improve relations with customers. Printed catalogues are expensive to produce and distribute and not as effective as targeted electronic communications. Customers could be sent daily electronic mail shots tailored to their own buying records and browsing history. The catalogue could be updated daily.

This could save money and should boost sales.

(d) Identify one threat to the effectiveness of these procedures. Explain how this could damage the business and suggest an action that would reduce the risk. 

We operate in a competitive environment. 80% of our sales are made to just 840, or so, customers and consist mainly of repeat orders for established products. We are vulnerable if our competitors offer new or cheaper products to these customers.

We must protect this business by ensuring that we develop or buy the best available products at competitive prices. 
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